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Question Number : 1 Question Id : 16794315530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rat belongs to Rodent in the same way as snake belongs to:

Options:
1 # Mammal

-  Reptile

=z % Insect

4 % Bird

Question Number : 1 Question Id : 16794315530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 16794315531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 16794315531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.
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Options:

1, % i%
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Question Number : 3 Question Id : 16794315532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Choose the odd figure in the series.
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Options:

Question Number : 3 Question Id : 16794315532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 16794315533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will be the next figure. in the series?
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Question Number : 4 Question Id : 16794315533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 16794315534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will be the next figure in the series?
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Options:
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Question Number : 5 Question Id : 16794315534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 16794315535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following pie chart shows information about the books published by a publication company “XYZ". The total
number of books published by the company are 12.462 in 2016-17 including color black &white publications
(approximately).

competitive exam
books

High school

callege level 7-10)

&2

Histary Books

Fre school(MUR, LEKG & LKG)
How many books of preschool level education are published by XYZ in 2016-17

Options:
1 % 1246
5 % 1869

5 o 2243

4 % 3115

Question Number : 6 Question Id : 16794315535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 1246

- w 1869
2 v 2243

4 % 3115

Question Number : 7 Question Id : 16794315536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the answer figure in which the question figure is embedded/hidden.
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Question Number : 7 Question Id : 16794315536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rw v Rwrent & @ w7 3mefy afeafa 27

S

Options:

.8

2. [
Z

g -

4 %

Question Number : 8 Question Id : 16794315537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘When you are walking on the road, you see a puppy was stuck in the drainage man hole-you would - Choose the correct
statement.

Options:
, = Leave it and carry to your work

. Raise an alarm to call some police to rescue the puppy

z. "

5  Use some means to rescue the puppy immediately



4 # Close the man hole opening

Question Number : 8 Question Id : 16794315537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 16794315538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following are the conditions for selecting list of a suitable candidates to be called for interview after the written test
for the recruitment is conducted/ organized for management-level persons of a multi-national company. For Providing
accounting services and sales the candidate must

(a) be holding a graduation in basic science with 65% or above or B.E degree with 55% and above marks

(b) have passed the written test with 70% or above marks

(c) the age must be in the group 25 to 30 years as on 1/4/18

(d) have experience in an accounting firms for three years and diploma in accounting with 60% or above marks

(e) be presently drawing CTC of 6 Lakhs per annum and above

In case the applicant who satisfies all other terms above except

1) at (a) above, then be referred as Junior Accountant

2) at (d) & (e) above then be referred as

Trainee-Accountant

Satisfying all the above with experience of 5 years then be referred as senior-Accountant

Satisfying all the above criteria (a-e) with CA/ ICWA/ MBA (Finance) then be refereed as manager (Accounts)

Read all the above information and answer the following question

Shravani has passed H.SC with 72% of marks. She has done diploma in accountancy with 62% of marks. She was
working with an organization in the field of accounting from 4 years and was drawing CTC of 6.5 Lakhs presently. She
is 28yrs as on July 2018. She may be refereed for the position of:

Options:
1 + Junior-Accountant

> % Trainee-Accountant

% % Senior-Accountant



4 % Manager (Accountants)

Question Number : 9 Question Id : 16794315538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 16794315539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How would the pattern appear when the transparent sheet is folded at the dotted line?

1 ®

2R
Q“__."“r

3 v
o

4 ®

Question Number : 10 Question Id : 16794315539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 16794315540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct answer.

A Rose flower always has:
Options:
1 « Petals

- % Roots
= ® Water

g ® Mud

Question Number : 11 Question Id : 16794315540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 16794315541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figure carefully and answer the given question

4 ﬁ American
Singers A@'&
v Doctors

Which region denotes who are singers but neither doctors nor Americans

Options:

"

1_«:»31

Question Number : 12 Question Id : 16794315541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I BT 7T B w1 aoeEs ewa Y HR R 99 9 weF # 3R &

nﬁ
’a% e

FieT TT &F 37 T Fr SoTar & I & o7 or s & it 7 & s 2

Options:

1_-5&1

2_-%2



3¢ 4

4 % 3

Question Number : 13 Question Id : 16794315542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pointing to Varun, Nitya said his father’s only brother is my father. How is Nitya related to Varun?
Options:
¢ Daughter

1"
~ o Cousin
=R Aunt

4 % Grand mother

Question Number : 13 Question Id : 16794315542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 16794315543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If P means =, T means —. M means —, B means +. then what is the value of 25B5POT3M7="

Options:
1.« 49
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Question Number : 14 Question Id : 16794315543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 15 Question Id : 16794315544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At a birthday party every four guests used a bowl of rice between them. every five guests used a bowl of dal between
them. There were altogether 74 dishes. How many guests were present at the party?

Options:
; % 130

5 o 120
5 % 100

4 % 125

Question Number : 15 Question Id : 16794315544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
, % 130
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. % 125

Question Number : 16 Question Id : 16794315545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The total of the ages of Jame. Vihan. and Mahesh is 75 years. Five years ago the ratio of their ages was 3 : 4 : 5. What is
the present age of Mahesh?

Options:
| ® 34 years

5 % 27 years

5 30 years

4 % 40 years

Question Number : 16 Question Id : 16794315545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=7, fage AR Ay 1 For g 75 I ) AT I Ggol 3ol 34 H FA9d 3 1 4 1 5 oAT| AGY H
TR 3y fahaer 7

Options:

| % 34 W
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4 % 40 I

Question Number : 17 Question Id : 16794315546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd pair of words.

Options:
; = Cup :crockery

~ % Shirt : Garment

5 « Chair : Table



4 w Pen: Stationery

Question Number : 17 Question Id : 16794315546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 16794315547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd pair of numerals among the given options.

Options:
1 % 6:18

s % 9:36

i 4527

Question Number : 18 Question Id : 16794315547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 16794315548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what will be the next term in the series?

13, 16,21, 28,37, 7
Options:
1. ® 50
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Question Number : 19 Question Id : 16794315548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1B3:.16, 21, 28 37,72
Options:

1 = 50
o R 42
2« 48

g4 ® 56

Question Number : 20 Question Id : 16794315549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what will be the next term in the series?

BNos XU H D
Options:
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Question Number : 20 Question Id : 16794315549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Number : 2

Group Id: 167943545

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarernsss

Section Id : 167943610
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pand: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 167943975
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794315550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The institution of ‘Gotra’, the clan appeared in the period.

Options:
1 % Pre-Vedic

- u Early Vedic

3 o Later Vedic

4 % Mauryan

Question Number : 21 Question Id : 16794315550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 16794315551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following did not help the British during the Revolt of 18577

Options:
1 % Holkars
o o Jats

= % Nizam

4 % Scindias



Question Number : 22 Question Id : 16794315551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 16794315552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the oldest organization of India?

Options:
, = Poona Sarvajanik Sabha

- % Madras Native Association

- » DBombay Association

4  Landholders Society

Question Number : 23 Question Id : 16794315552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 16794315553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where is the capital city of Angola located?

Options:
1 % Accra

> « Luanda

- % Abuja

4 % Nicosia

Question Number : 24 Question Id : 16794315553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 16794315554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

"Mettur Project’ is an irrigation project of which state?
Options:

1 % Kerala

- % Andhra Pradesh

= « Tamil Nadu

4 % Karnataka

Question Number : 25 Question Id : 16794315554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 16794315555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following article provides for the salaries and allowances of the members of the Parliament?

Options:
1 « Article 106
- % Article 109

= % Article 110

4 % Article 114

Question Number : 26 Question Id : 16794315555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 16794315556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Part IX A of the Indian Constitution deals with the

Options:
1 % The Union Territories

-  Municipalities

= % The Scheduled And Tribal Areas

4 % Tribunals

Question Number : 27 Question Id : 16794315556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 16794315557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Bombay Reorganization Act, divided the State of Bombay to establish two states of Gujarat and
Maharashtra.

Options:

1 ® 1952
5 % 1956
= % 1958

4 « 1960

Question Number : 28 Question Id : 16794315557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 1952
. % 1956
- » 1958

. v 1960

Question Number : 29 Question Id : 16794315558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In recently released Global Innovation Index (GII) 2018, India was ranked among 130 countries.

Options:
1 ® 54th

oo 57th

Question Number : 29 Question Id : 16794315558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g & # i T 9T selee sAEs S (SEas) 2018 A, 130 2t H g v T
e o am

Options:
| = 54ar
>  B7aT

> % 58T

4 % B0aT

Question Number : 30 Question Id : 16794315559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
South Korean technology giant Samsung inaugurated the world’s largest mobile manufacturing unit in



Options:
1 « Noida

Gurugram

=z % New Delhi

Bangalore

Question Number : 30 Question Id : 16794315559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

efgor Fifrang gtemfadr Rere d7ger & # gfoar & mew w21 Aesa R{fAA0T s &7
3cHres T

Options:

| v #AesT

aALdTH

- #® 2

o R
4 % SETET

Question Number : 31 Question Id : 16794315560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Lezim is a folk dance associated with which state of India?
Options:

1 Manipur

Gujarat
3 « Maharashtra

4 % Goa

Question Number : 31 Question Id : 16794315560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST Teh Ak FcT g Al IRd & [hT Ted § Taed g7

Options:




Question Number : 32 Question Id : 16794315561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Savita Mehia is a classical dancer of which dance form?
Options:

1 % Kathak

- = Kuchipudi

= % Mohiniattam

4  Manipuri

Question Number : 32 Question Id : 16794315561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tiaar #gaT E o0 §9 F TEHT JAdF g2

Options:

Question Number : 33 Question Id : 16794315562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following is a famous 'Thumri' singer of India?

Options:



1 % MLS. Subbalakshmi
> « Shobha Gurtu

- # Ritwik Sanyal

4 = Sultan Niyazi

Question Number : 33 Question Id : 16794315562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
frafof@a & @ #ia @ sma # 9fag g7l a g2
Options:

TH.UH. egoradr

E_Jaﬁma'ré

e Lt

. » Ficas H=gTel

Question Number : 34 Question Id : 16794315563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which country was given the FIFA Fair Play Award in the 2018 World Cup?
Options:
 Portugal

e o

- % France
5  Spain

4 = England

Question Number : 34 Question Id : 16794315563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2018 f¥9g &7 H &g 29T & FHT BIT ©oF 3 Ir 13 oar?

Options:



Question Number : 35 Question Id : 16794315564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With 0.62 goals per match who among the following players have the best goal average in International matches.

Options:
1+ Sunil Chhetri

- % Lionel Messi
= % Cristiano Ronaldo

4 = Kylian Mbappe

Question Number : 35 Question Id : 16794315564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gfy #= 0.62 #1&aT & Ty, Faei@g T@aEal # ¥ 3arsay J397 #§ gaics oie 3itaa G 872
Options:

1.f§?ﬁﬂﬁ

o w ST HAT
5 w fopiEearar JaATesT

4 = Thforms vearey

Question Number : 36 Question Id : 16794315565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The study of virus, bacteria, algae. fungi and protozoa is called

Options:



, » Etiology

-  Microbiology

- » Gerontology

4 = Physiology

Question Number : 36 Question Id : 16794315565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IERT, SFEE, ST, Fae HT RIS &7 HeTIT Feoar 2l
Options:

1 % yroIEie

2 ¥ E

Question Number : 37 Question Id : 16794315566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where is the headquarter of Central Treaty Organization (CENTO) situated?

Options:
1 % Tehran

- % Amman
= « Ankara

4 % Cairo

Question Number : 37 Question Id : 16794315566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fearg B e (WSS F HEI0d Fal 2Ud 87

Options:



Question Number : 38 Question Id : 16794315567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Public Affairs Index (PAT) 2018, which state topped the list as best-governed state in the country?

Options:
1 % Tamil Nadu

- » lelangana

= % Karnataka

4 « Kerala

Question Number : 38 Question Id : 16794315567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afeds 3HTY s (NTaTZ) 2018 & HaTew, fhE ToT & ¢ # T 70! ag & T & &9 &
T # o wue gfae R

Options:

4 v BT

Question Number : 39 Question Id : 16794315568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first meeting of the India-Bangladesh Joint Committee on Border Haats was held in

Options:



, = Tarapur

- # Kamlasagar

-  Agartala

4 % Kalaichar

Question Number : 39 Question Id : 16794315568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
HIAT BIEH T RA-aeaneel Had AiATa 1 Tger $5% T amafaa 7 55 o

Options:

Question Number : 40 Question Id : 16794315569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sports Authority of India (SAI) under Union Ministry of Sports and Youth Affairs has cleared athletes for the
scholarship under the Khelo India Talent Development Scheme

Options:

1 ® 675

Question Number : 40 Question Id : 16794315569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el A AR a1 ATF & @ ARG Tel WUE0r (THUHTS) & T $3ar wiasr Rew e &
dad ok & T Tereel # HAlr & & B

Options:



| % B75

> o 134

3 % 750

4 % 825

Arithrnetic Ability

Group Number : 3

Group Id: 167943546

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrnetic Ability

Section Id : 167943611
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 18
Number of Questionsto be attempted: 18
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section I1d: 167943976
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794315570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
7BE X785 x 785+ 215x21.5% 215 _

785 K 785+ 215 % 215 —785 % 215

The value of

Options:



> o 1

4 % 0.01

Question Number : 41 Question Id : 16794315570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
785x 785X 785+215x215x 215 %_

785 X 785+ 215 % 215 — 785 % 215

Options:

1 * 10
2« 1

. % 0.01

Question Number : 42 Question Id : 16794315571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1
e gl gl

' 3
The value w::qu,m‘3 + Zx [18—(-0.2 x7)]

—[0.7 + (2 x 0.3)] is equal to:

Options:
| & 6.95

2
3’{
o
S0
LA

L
g{
r
o
L

A
$<
E..!'I
e
Lh

Question Number : 42 Question Id : 16794315571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1
aig - S
?33 FA ey

40.09 %x (1.8 — (0.2 x7)] = [U? + (2 X 03)] T HAH =

Options:

| v 6.95



. % 6.85
.« 5.63

. # 5.45

Question Number : 43 Question Id : 16794315572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The HCF of two numbers is 26 and their product is 884. If both numbers are greater than 30, what is the sum of their
reciprocals?

Options:

19

17

19

17
4 % 1156

Question Number : 43 Question Id : 16794315572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar FETHT T AgeaH FAMEH 26 § AR 37 Une 884 7. e ! WEAw 30 ¥ 2 § A 3
Al F1 19T e 87
Options:
19
1 % 578

17
. 578

19

z « 1156

17
4 % 1156



Question Number : 44 Question Id : 16794315573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the sum of digits of the greatest four digit number which when divided by 12. 18, 21 and 28 leaves respectively
7.13. 16 and 23 as a remainder?

Options:

o ® 20

4 # 18

Question Number : 44 Question Id : 16794315573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 37RT T TEY 927 G&IT & 37! &1 I #4407 ¢ =g 12, 18, 21 3kr 28 ¥ fnfog =@ W Iwwa

Fer 7, 13, 16 3T 23 3mar &7
Options:

1 @ 22
o & 21
T 20

g4 ® 18

Question Number : 45 Question Id : 16794315574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If2a:3b:4c=35:6:7,thena:b:cisequalto:

Options:
1 % 7:8:10

s % 7:10:8

4w 10:8:7

Question Number : 45 Question Id : 16794315574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

¥R 2a:3b:4c=5:6:7, FTa:b:cAAFIEL

Options:

1 % 7:8:10
> % 8:7:10
2% 7:10:8
2o M0 B 5T

Question Number : 46 Question Id : 16794315575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At A@uT BHS5: 270 8:5 & 3ug A it AR 9 §. 3y daergat A 7 12 F
Fegora & fBfEa frar smar . 3w o % 520 mil & faraar wrel femr se & feafie s ol @ o
S:EQ-TWﬁBTETR’?

Options:

% 60 ml
> 80 ml
- % 100 ml

4 % 120 ml

Question Number : 46 Question Id : 16794315575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two vessels A and B contains spirit and water in the ratio 5 : 2 and 8 : 5. Their contents are mixed in the ratio 7 : 2. In
520 ml of this solution. how much water should be added to make it a solution of spirit and water as 3 : 27

Options:
1 ®% 60ml
> o 80 ml

3 % 100 ml

4 % 120ml

Question Number : 47 Question Id : 16794315576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In a school 40% students play cricket and 55% play football. If 20% of the students play neither cricket nor football.
what percentage of students play both the games?

Options:

Question Number : 47 Question Id : 16794315576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UE THd H 40% o7 e 3 55% o1 Teaa Wed §. 3% 20% o1 7 o B iR T § gem
ey § O s gfdere o1y aF g g 87

Options:

1 = 35
> R 25
z « 15

g4 ® 10

Question Number : 48 Question Id : 16794315577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i
By selling an article for T 2880, a person loses > of its cost price. At what price he should sell it to gain 15% profit to
nearest rupee?

Options:
|« T 3864
> % T 3312

- % T 3360

4 % T3280

Question Number : 48 Question Id : 16794315577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T TG ¥ 2880 H e UF WG WS - AFG HAA G &ar 8. eean w98 7 15% oy H#feE
= ¥ T 38 37 Ig & 5w foa | a=er aike?

Options:

| v T 3864
, » T 3312
., » T 3360

. = T 3280

Question Number : 49 Question Id : 16794315578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A shopkeeper purchase an article for T 900 and marks its price in such a way that after giving a discount of 10%. he
earns a profit of 20%0. The marked price of the article is;

Options:
. #% 1000

> o T1200
2 % T1300

4 % T 1400

Question Number : 49 Question Id : 16794315578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ts ZFER T 900 H TH IFG TS 8 AN FHH AT 36 @ ¥ A’ wwar € F 10% F g
& % 1€, 9¢ 20% T AT FACT gl g Fr Aha FAT F=U 87

Options:

, % T 1000

5 v T 1200
- % T 1300

4 % T 1400

Question Number : 50 Question Id : 16794315579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



1 " 3 :
A man spends = of his income at 6% per annum, & at 7% per annum and the remainder at 8% per annum.
If interest after 1 year is ¥ 1221, what is his income?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

, 18,000

, ¥16,500

5 T 15,000

. T14,700

Question Number : 50 Question Id : 16794315579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wa@mﬁmm%qﬁraﬁs%qﬁraﬁgqﬁa&?%ﬁT&ﬁS%Qﬁ-’rm‘rm‘rm%I

IfE 1 99 & 1€ == T 1221 g, a7 3HSr 31T 7 27

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

. T 18,000

, ¥ 16,500

. ¥ 15,000

, T 14,700

Question Number : 51 Question Id : 16794315580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The difference between compound interest and simple interest for 3 years at 10% per annum on a certain sum is I 496.
What is the sum in rupees?

Options:

1 ® < 10.000

, % 12,000



2 % 14,000

4 v 16,000

Question Number : 51 Question Id : 16794315580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

v AT ofr 9T 10% 9fa 99 #ir T ¥ 3 99 F Pw gwgfy s 3t auRer sme & 9 3T
T 496 ¥ TI¥ F TRy T §?

Options:

, % 10,000
, » ¥ 12,000
. » T 14,000

. v ¥ 16,000

Question Number : 52 Question Id : 16794315581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The parallel sides of a trapezium are 10 cm and 18 cm. If each non parallel side is 8§ cm, what is the area of the
trapezium to nearest whole number?

Options:
1 % 90 cm?

> % 95 cm?
2 « 97 cm?

4 % 99 cm?

Question Number : 52 Question Id : 16794315581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

v U Tt F FAEET o= 10 om 39 18 om §| Ify Fedw EAIR =T 8 om g, & famw
TJAS H 8T FeFean Uf T=m 7 Fw 2

Options:

1 % 90 cm?




> % 95 cm?
z « 97 cm?

4 % 99 cm?

Question Number : 53 Question Id : 16794315582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sphere of radius 8 cm is melted and recast into small spheres of radius 0.5 cm. How many such spheres can be made?

Options:
1« 4096

2045

P2
8‘{

s % 1024

i 512

Question Number : 53 Question Id : 16794315582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
8 BT R=ar % v ey @I Fwemar Srar § 3K 0.5 ¥ B & o Ael # garr g S gl o
et 7 7113 ST Geht 27

Options:

.« 4096
. » 2048
- % 1024

4 % 512

Question Number : 54 Question Id : 16794315583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A person covers a distance of 10 km at a speed of 40 km/h and next 20 km at a speed of 50 km/h. What is his average
speed for whole journey? (Correct to one decimal place)

Options:

1 % 45km/h

> « 46.2 km/h



z % 46.8 km/h

4 % 472 km/h

Question Number : 54 Question Id : 16794315583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Us =hiFa 40 TRl / mer @ aifa & 10 falr @ g ik 50 fRr / wer &y fy & smrer 20 AT H
gl T Far &1 U T & v 3He diwa T #9487 (TF guHEed T W OEE)

Options:

. = 45 TRAT / wer
> 46.2 AT / war
- » 46.8 AT / Tar

4w 472 A/ war

Question Number : 55 Question Id : 16794315584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of speeds of a boat downstream and upstream is 5 : 3. It can go 20 km downstream and return to same point in
4 hours. What is the speed of boat upstream in km/h?

Options:
1.+ 8

Question Number : 55 Question Id : 16794315584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT HT HTATE (SEATEH) AR aRr-gfager (3aEdH) T # Hgwa 5 ¢ 3 7g 20 G sEaedw
ST 4 BT H 38T fig W st Tarelt €1 A9 @ arr-gfaee aife fhat/ e A Far ge

Options:

1.« 8



3_&9

4 ® 9.6

Question Number : 56 Question Id : 16794315585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A and B together can complete a work in 12 days, B and C together in 15 days and C and A together in 20 days. In how
many days A alone can do 150% of that work?

Options:
1 ® 24

o R 30
3_«:-”& 4'::'

4, o 45

Question Number : 56 Question Id : 16794315585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ANBF Oy e FRFAF 2RFF BiIRCFar e 5 @ Faar Cc it A
v wrY Ao 20 e # W aR T € 3R A 30w @ 150% e Rt & qm w weRar €2

Options:

1 ® 24
o ® 30
=z ® 40

4 « 45

Question Number : 57 Question Id : 16794315586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two pipes A and B can fill a tank in 4 hours and 6 hours respectively. A third pipe C can empty a full tank in 8 hours.
All three pipes are opened together and after 2 hours. pipe B is closed. In how many hours, the tank will be filled?

Options:

10

1. % 3



Question Number : 57 Question Id : 16794315586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ar wEY A 3R B T I F FE: 4 g AR 6 9 H sW wHr §1 v Al wET C v IO & 8
U H el FT Thar £ = 3 uisd ves oy @ S 3t 2 92 &, oS B &9 &Y & Jar B
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Options:

Sub-Section Number: 2
Sub-Section Id: 167943977
Question Shuffling Allowed : Yes

Question Id : 16794315587 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (58 to 60)
Juestion Label | Comprehension

The following table gives the temperature of 6 places on a
particular day in degree centigrade of a month. Read the table

and answer the following questions.

Places A B C D E F
Temperature 1.5 —1.5 —2.5 4.5 3.5 —5.5

Sub questions



Question Number : 58 Question Id : 16794315588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the difference between highest and lowest
temperature in degree centigrade?

Options:
1 ® 6

P2
®
-1

d
#
('3

4 ¢ 10

Question Number : 59 Question Id : 16794315589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the average temperature of all 6 places in
degree centigrade?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 0.5

5 —0.25

a
=
LA

Question Number : 60 Question Id : 16794315590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The temperature of C is what percent less than

the temperature of A?

Options:
8{]{}‘}{

yo 37
650
—— 4

2 % 3



—— 04
5% 3

ZDG‘}’

—a J0
4 % 3

Question Id : 16794315587 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (58 to 60)
Cuesticon Label | Comprehension

rataRT aiferesr v 7T & e Ao e 6 Tt
FI AAE 2 ddEE 7 & g1 afeer 92 it Rafefea
9T T Ieal o

a1 A B C D E F
auAT| 1.5 | -15 | =25 | 45 35 | 55

Sub questions

Question Number : 58 Question Id : 16794315588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=aad AR Feaas avas & & FE ades A
FIT HH &7

Options:

1 % 6

2_-53?
3_#8

4 v 10

Question Number : 59 Question Id : 16794315589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
it 6 TUET F B TEEE # Hwg A
T §7

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:



, -0.25
5 -0.275

, 05

Question Number : 60 Question Id : 16794315590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
C & A A & d9H ¥ fhae giaed
FH 22

Options:

800

——0%

1.« 3

650

——
> % 3

250

—— 0
3 % 3

200

——
4 ® 3

eneral English

Group Number : 4
Group Id: 167943547
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral English
Section 1d : 167943612



Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943978
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 16794315591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

He told the good news his parents and friends.
Options:
1 & for

o W in
z % with

4. ¢ 10

Question Number : 61 Question Id : 16794315591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

He told the good news his parents and friends.
Options:

1 % for

o W in

= % with

4. ¢ 10

Question Number : 62 Question Id : 16794315592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I saw him looking some Chemistry books the library.
Options:
| % in ; at

5 o at;in

- % on;in

4 R into ; at

Question Number : 62 Question Id : 16794315592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I saw him looking some Chemistry books the library.
Options:
1 % in ; at

5 o at;in

5 % On;in

4 % into ; at

Question Number : 63 Question Id : 16794315593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Her chances of winning both the matches bright to me. She is playing so well.

Options:
1 & seem

> % seemed

5 x aIe seeming



4 % have seemed

Question Number : 63 Question Id : 16794315593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Her chances of winning both the matches bright to me. She is playing so well.

Options:
1 & SeCm

> % seemed

5 % aIe seeming

4 % have seemed

Question Number : 64 Question Id : 16794315594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I wouldn’t have been so angry if she on time.

Options:
1 % turns up

- % 1stumning up

5 » hasturned up

4  hadturned up

Question Number : 64 Question Id : 16794315594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I wouldn’t have been so angry if she on time.

Options:
, w tumsup



> @ Isturning up

- % hasturned up

4 « had turned up

Question Number : 65 Question Id : 16794315595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

We were having discussions suddenly she came up with some brilliant ideas.

Options:
1 and

> % but
3 ® Or

4 ® SO

Question Number : 65 Question Id : 16794315595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

We were having discussions suddenly she came up with some brilliant ideas.
Options:
1. v and

- % but

Question Number : 66 Question Id : 16794315596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

He slept like a horse of all the commotion in the room.

Options:



; % because
in spite
5 # incase

, w although

Question Number : 66 Question Id : 16794315596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

He slept like a horse of all the commotion in the room.
Options:
| % because

in spite
3 % incase

4 = although

Question Number : 67 Question Id : 16794315597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I am not to ask you again. Do what you want to do.
Options:
1 % Cryiig

=]

oing

Question Number : 67 Question Id : 16794315597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

I am not to ask you again. Do what you want to do.
Options:

, % crying

=]

oing

M
®

Question Number : 68 Question Id : 16794315598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Because of her qualifications she has every for the success of her application for the job.
Options:
, % Opening

- # fortune

5 « chance

4 % luck

Question Number : 68 Question Id : 16794315598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Because of her qualifications she has every for the success of her application for the job.
Options:

, % Opening

- w fortune

3 o chance

4 % luck



Question Number : 69 Question Id : 16794315599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the synonym of the given word.

ERE
Options:
, = only

> o before
= % while

4 % when

Question Number : 69 Question Id : 16794315599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the synonym of the given word.

ERE
Options:
, = only

> o before
= % while

4 % when

Question Number : 70 Question Id : 16794315600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the synonym of the given word.

FUTILE
Options:
1 « useless

> % effective

3z % calm



4 % airless

Question Number : 70 Question Id : 16794315600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the synonvm of the given word.

FUTILE
Options:
1 « useless

> ® effective
= % calm

4 # airless

Question Number : 71 Question Id : 16794315601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the antonym of the given word.

WANE
Options:
1 ® hit

- % arrange

3 % diminish

4 & Wax

Question Number : 71 Question Id : 16794315601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the antonym of the given word.

WANE
Options:
1 ® hit

.  arrange



% % diminish

4 « Wax

Question Number : 72 Question Id : 16794315602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the antonym of the given word.

DUBIOUS
Options:
1 % hesitant

> o Ccertain

= % doubtful

4 % confused

Question Number : 72 Question Id : 16794315602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the antonym of the given word.

DUBIOUS
Options:
1 % hesitant

> o cerfain
= % doubtiul

4 % confused

Question Number : 73 Question Id : 16794315603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the sentence structure that is grammatically correct and meaningful.

Options:
, = Arethat five times three fifteen remember please.

> o Please remember that five times three are fifteen.



- » Remember please that five are three times fifteen.

4 = Remember that three times five please fifteen are.

Question Number : 73 Question Id : 16794315603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the sentence structure that is grammatically correct and meaningful.
Options:

. w Are that five times three fifteen remember please.

» « Please remember that five times three are fifteen.

- » Remember please that five are three times fifteen.

4 = Remember that three times five please fifteen are.

Question Number : 74 Question Id : 16794315604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange parts of the sentence in meaningful and grammatically correct order.

A. that drones have been found to be
B. at the Kaziranga National Park
C. extremely essential for vigilance
D. the Divisional Forest Officer said
Options:
1 ® DABC

> % DBCA
- % DCAB

4 « DACB

Question Number : 74 Question Id : 16794315604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Arrange parts of the sentence in meaningful and grammatically correct order.

A. that drones have been found to be
B. at the Kaziranga National Park
C. extremely essential for vigilance
D. the Divisional Forest Officer said
Options:
1 ® DABC

> % DBCA
s = DCAB

4 « DACB

Question Number : 75 Question Id : 16794315605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following sentence four words/phrases have been underlined. One of them is incorrect. Choose the incorrect
word/phrase from the given options.

The color of the litmus paper change when we put acid in the beaker.

Options:
1 % ofthe

- o Change

5 % Weput

4 % in the beaker

Question Number : 75 Question Id : 16794315605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following sentence four words/phrases have been underlined. One of them is incorrect. Choose the incorrect
word/phrase from the given options.

The color of the litmus paper change when we put acid in the beaker.

Options:
1 % ofthe

- o Change



5 % Wweput

4 % in the beaker
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Sub-Section Id: 167943979
Question Shuffling Allowed : Yes

Question Id : 16794315606 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following passage and answer the questions given afier it.

A research study carried out on the school children of Delhi shows
that one out of every 10 students of Delhi’s private schools suffer
from obesity, high blood pressure and increased levels of bad
cholesterol.

Together, these risk factors make them vulnerable to develop a host of
non-communicable diseases. primarily cardiovascular diseases (like
heart attacks and stroke), cancer, chronic respiratory diseases (such as
chronic obstructed pulmonary disease and asthma) and diabetes. They
are the major cause of adult mortality and illness worldwide.

The students of government schools, who come from lower socio-
economic strata, are relatively less vulnerable to get these diseases,
the study conducted by researchers from AIIMS, Public Health
Foundation of India, Indian Institute of Health Management and
Research and the London School of Hygiene and Tropical Medicine
says. It has been published in Preventive Medicine Reports (PMR).
The research involved screening of 786 boys and 543 girls —
studying in grades IT and XTI in 10 randomly selected private schools
and nine government schools.

The percentage of overweight and obese students among private
schools was 13% and 9% respectively. Among the government school
students, only 3% students were found to be overweight and none of
them were found to be obese. Number of underweight students in
government schools was, however, noted to be three times that of the
private school students.

Hypertension and bad cholesterol, risk factors usually associated with
increasing age and unhealthy lifestyle, was also found to be affecting
the students.

In the study, the prevalence of hypertensive students in private
schools was 13% and in government schools it was 4.5%. Monika
Arora, the lead author of the study said, “This is the first research to
report on the distribution of multiple risk factors for NCDs in school
students in India, comparing low socio-economic status (government
schools) to high socio-economic status (private schools).

“Private school students had 29 times the prevalence of obese
students compared to government schools.” she said. Arora blamed
sedentary lifestyle and unhealthy eating for the increased risk and
stressed on the need for comprehensive, school-based interventions to
promote healthy lifestyle among them.

Sub questions

Question Number : 76 Question Id : 16794315607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
On reading this passage one can infer that it is:

Options:



. w anarticle on obesity

o % anewspaper report

% « aresearch abstract

4 % areview of a report

Question Number : 77 Question Id : 16794315608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What are the main causes of obesity among children
of private schools?
Options:
, = higher social strata and unhealthy eating

- » hypertension and higher social strata

- » sedentary lifestyle and hypertension

4  Sedentary lifestyle and unhealthy eating

Question Number : 78 Question Id : 16794315609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a risk factor?
Options:

. = high blood pressure

-  chronic respiratory disease

5 % obesity

4 % increased level of bad cholesterol

Question Number : 79 Question Id : 16794315610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which statement true about the research in Delhi schools?
Options:



The research involved 786 girls and 543 boys.

,_.
4

The research was done on students studying in class 1T
- = and class XII.

The research was done on 10 private and 9
government schools.

The percentage of obese and over-weight students

in private schools was 13% and 9% respectively.

Question Number : 80 Question Id : 16794315611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study conducted on the school children of Delhi

has been published in:

Options:
1 % Times of India

> #% American Journal of Public Health
%z % Advances in Nutrition

4 « Preventive Medicine Reports

Question Id : 16794315606 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following passage and answer the questions given afier it.

A research study carried out on the school children of Delhi shows
that one out of every 10 students of Delhi’s private schools suffer
from obesity, high blood pressure and increased levels of bad
cholesterol.

Together, these risk factors make them vulnerable to develop a host of
non-communicable diseases. primarily cardiovascular diseases (like
heart attacks and stroke), cancer, chronic respiratory diseases (such as
chronic obstructed pulmonary disease and asthma) and diabetes. They
are the major cause of adult mortality and illness worldwide.

The students of government schools, who come from lower socio-
economic strata, are relatively less vulnerable to get these diseases,
the study conducted by researchers from AIIMS, Public Health
Foundation of India, Indian Institute of Health Management and
Research and the London School of Hygiene and Tropical Medicine
says. It has been published in Preventive Medicine Reports (PMR).
The research involved screening of 786 boys and 543 girls —
studying in grades IT and XTI in 10 randomly selected private schools
and nine government schools.

The percentage of overweight and obese students among private
schools was 13% and 9% respectively. Among the government school
students, only 3% students were found to be overweight and none of
them were found to be obese. Number of underweight students in
government schools was, however, noted to be three times that of the
private school students.

Hypertension and bad cholesterol, risk factors usually associated with
increasing age and unhealthy lifestyle, was also found to be affecting
the students.

In the study, the prevalence of hypertensive students in private
schools was 13% and in government schools it was 4.5%. Monika
Arora, the lead author of the study said, “This is the first research to
report on the distribution of multiple risk factors for NCDs in school
students in India, comparing low socio-economic status (government
schools) to high socio-economic status (private schools).

“Private school students had 29 times the prevalence of obese
students compared to government schools.” she said. Arora blamed
sedentary lifestyle and unhealthy eating for the increased risk and
stressed on the need for comprehensive, school-based interventions to
promote healthy lifestyle among them.

Sub questions

Question Number : 76 Question Id : 16794315607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
On reading this passage one can infer that it is:

Options:



. w anarticle on obesity

o % anewspaper report

% « aresearch abstract

4 % areview of a report

Question Number : 77 Question Id : 16794315608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What are the main causes of obesity among children
of private schools?
Options:
, = higher social strata and unhealthy eating

- » hypertension and higher social strata

- » sedentary lifestyle and hypertension

4  Sedentary lifestyle and unhealthy eating

Question Number : 78 Question Id : 16794315609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a risk factor?
Options:

. = high blood pressure

-  chronic respiratory disease

5 % obesity

4 % increased level of bad cholesterol

Question Number : 79 Question Id : 16794315610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which statement true about the research in Delhi schools?
Options:



The research involved 786 girls and 543 boys.

The research was done on students studying in class 1T
- = and class XII.

The research was done on 10 private and 9
government schools.

The percentage of obese and over-weight students

in private schools was 13% and 9% respectively.

Question Number : 80 Question Id : 16794315611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study conducted on the school children of Delhi

has been published in:

Options:
1 % Times of India

> #% American Journal of Public Health
%z % Advances in Nutrition

4 « Preventive Medicine Reports
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Sub questions

Question Number : 81 Question Id : 16794315613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey ¥ AT TEeoedEE & 999F &
Options:

1 ® Wﬂ'm
z_f%?rﬂ?m

- % FAR TG



, « Teed By fen

Question Number : 82 Question Id : 16794315614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aﬁﬁrmﬁﬁmﬁmﬁﬁ
HAFOT-9ged 1 T3 AT 97

Options:

| v Tegery &R
o R WW

L % STUYAET THE

. .
4 R {:fJIHﬂIﬁdln'l Hcl

Question Number : 83 Question Id : 16794315615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SITETET Hiadl H YFd i & Faliad garnaes
o o

Options:

1 % SFTAFT 9HIS

.« Teed By feren

AT 9
SR a

I~ L
, % FECAT A

Question Number : 84 Question Id : 16794315616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



, « HATER wmrfgea
. % 3TRIRr HIfged

| T we

Question Number : 85 Question Id : 16794315617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

frrers awr Qe & gew ww E2
Options:

| OiEl
SR B LUGEIC
5 % FAETERE
4 % STOT i
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Sub questions

Question Number : 81 Question Id : 16794315613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e H 3odfld TEoedEE & Ja0® g

Options:

|« TAegATY &R

5 o YT 9TSH
L % STUURT THE

, « Teed By fen

Question Number : 82 Question Id : 16794315614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aﬁﬁrmﬁﬁmﬁmﬁﬁ
HAFOT-9ged 1 T3 AT 97

Options:

| v Tegery &R
o R WW

L % STUYAET THE

. .
4 R {:fJIHﬂIﬁdln'l Hcl

Question Number : 83 Question Id : 16794315615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25

SITETET Hiadl H YFd i & Faliad garnaes
o o

Options:

1 % SFTAFT 9HIS

.« Teed By feren
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Question Number : 84 Question Id : 16794315616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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T # FiF @1 g T8 F 87
Options:

L B
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S.Jm
4 % Eo
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Options:
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4w F
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Options:
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Options:
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Question Number : 88 Question Id : 16794315620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TFT H dEar=s g7 #iT 4 27
Options:

;% TS

zwm
g_ﬁm

, » ASHIA

Question Number : 89 Question Id : 16794315621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 16794315621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 16794315622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 16794315622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 16794315623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 16794315623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 16794315624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 16794315624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 16794315625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 16794315625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 16794315626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 16794315626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 16794315627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 16794315627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘aiferes # 9cTT &
Options:

1_.,3?
2_&3 3‘T
z #® h

4 ®% ol

Question Number : 96 Question Id : 16794315628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 96 Question Id : 16794315628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 16794315629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 16794315629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 16794315630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 16794315630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 16794315631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 16794315631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 16794315632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 16794315632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Number : 6
Group Id: 167943549
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 167943614

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943982
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 16794315633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following organism is an example for Parasitic nutrition?

Options:
1 % Amoeba

Algae

Selaginella

ta
2

4 « Virus

Question Number : 101 Question Id : 16794315633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T=faf@a # ¥ 7 77 39 WSS SINuYHTER FT TF 3SR 27

Options:
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Question Number : 102 Question Id : 16794315634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
During Aerobic Respiration. the ATP synthesis occurs in which cell organelle?

Options:
1 % Lysosomes

> % Ribosomes
z « Mitochondria

4 = Golgi

Question Number : 102 Question Id : 16794315634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 103 Question Id : 16794315635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the human body, the physiological process which causes bleeding to stop is known as?

Options:



1 « Haemostasis

- u Peristalysis

=z % Haematemesis

4 % Homeostasis

Question Number : 103 Question Id : 16794315635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 104 Question Id : 16794315636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following blood vessels supply the blood to the Brain?
Options:

1 « Carotid arteries

- u Coronary arteries

- = Pulmonary arteries

4 = Jugular veins

Question Number : 104 Question Id : 16794315636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 105 Question Id : 16794315637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In green plants. ‘Guard cells’ play an important role in which of the following process?
Options:

. = Photosynthesis

- » Respiration

5  lranspiration

4 % Pollination

Question Number : 105 Question Id : 16794315637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question 1d : 16794315638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following Vertebrates are essentially Ammonotelic?

Options:



1 « Fishes
- % Mammals

- = Reptiles

4 % Birds

Question Number : 106 Question Id : 16794315638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question Id : 16794315639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are the functional units of human kidney?

Options:
. N
, « Nephrons

o % Neurons
Ganglions

Myocytes

Question Number : 107 Question Id : 16794315639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 108 Question Id : 16794315640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following Cranial nerve is the Facial nerve in human beings?

Options:
1. * X

o o VII

Question Number : 108 Question Id : 16794315640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id ;: 16794315641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one is not a source of carbohydrate?
Options:

1 % Rice



> % Millets

- = Sorghum

4 « Gram

Question Number : 109 Question Id : 16794315641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 110 Question Id : 16794315642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Blast is the disease of the following crop:
Options:

, = Chick pea

5 % Sugarcane

=z % Wheat

4 « Rice

Question Number : 110 Question Id : 16794315642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 16794315643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In some plants, the ‘Hatch-Slack’ pathway takes place in which of the following life process?

Options:
= lranspiration

- % Respiration

-  Photosynthesis

4 % Locomotion

Question Number : 111 Question 1d : 16794315643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question 1d : 16794315644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Glucagon is a hormone secreted by which of the following?
Options:

. « Alpha cells of Islets of Langerhans of Pancreas

-~ » Befa cells of Islets of Langerhans of Pancreas



- u Delta cells of Islets of Langerhans of Pancreas

4 = Neurohypophysis of Pituitary gland

Question Number : 112 Question Id : 16794315644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 16794315645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TSH is released by which of the following gland?

Options:
; = Thyroid gland

- % Pancreas

5  Pituitary gland

4 = Salivary gland

Question Number : 113 Question Id : 16794315645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 16794315646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the largest gland in the human body?

Options:
, = Pituitary gland

- u Parotid gland

= % Pancreas

4 « Liver

Question Number : 114 Question Id : 16794315646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 16794315647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Buddding’ is a mode of asexual reproduction seen in which of the following organisms?

Options:
1 # Star fish
- % Amoeba

5  Hydra



4 % Planaria

Question Number : 115 Question Id : 16794315647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 16794315648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following mammals have shortest Gestation period?

Options:
1. o Rat

o R Cat
z % Cow

4 = Elephant

Question Number : 116 Question 1d : 16794315648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question 1d : 16794315649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following hormone helps in Parturition in human beings?
Options:

1 % Prolactin

5 % Progesterone

5 « Oxytocin

4 % Estrogen

Question Number : 117 Question Id : 16794315649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 118 Question Id : 16794315650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which of the following organisms have nucleic acid but lack proteins in their genome?

Options:
; w Cyanobacteria

> o Viroids

- » DBacteriophages

4 % Prions



Question Number : 118 Question Id : 16794315650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 119 Question 1d : 16794315651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a characteristic of Genetic code?
Options:

, « Ambiguous

5 % Degenerate

- » Complimentary

4 # Unambiguous

Question Number : 119 Question Id : 16794315651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 16794315652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Cell theory was proposed by?

Options:
1 % Leeuwenhoek

> o Schleiden and Schwann
- % Robert Brown

4 % Rudolf Virchow

Question Number : 120 Question Id : 16794315652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:

Subject Related

7
167943550
0

0
No
No
0
20
Yes
0

0

Subject Related

167943615
1

Online
Mandatory



Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943983
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 16794315653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the Primary consumer in an Aquatic Ecosystem?

Options:

, » Phytoplankton

> # Algae

=  Zooplankton

4 = Large fish

Question Number : 121 Question Id : 16794315653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 16794315654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not an infectious disease?

Options:



1 % Cholera
> % Cold

o % Dengue

4 « Diabetes

Question Number : 122 Question Id : 16794315654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 16794315655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ozone depletion is prominent over which part of the world?

Options:
1 % Asia

> % Africa
% % South America

4 « Antarctica

Question Number : 123 Question Id : 16794315655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 124 Question Id : 16794315656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The harmful radiation exposure due to Ozone depletion causes which of the following adverse reaction in human
beings?
Options:
1 % Blindness

- % Leukemia

5 » Hemophilia

4 « Skin Cancer

Question Number : 124 Question Id : 16794315656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question Id : 16794315657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Intercalated discs are characteristic of which muscles?
Options:



1 # Skeletal muscles
- % Smooth muscles
= « Cardiac muscles

4 # Sphincter muscles

Question Number : 125 Question Id : 16794315657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 16794315658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Opuntia and Cactus are the examples of which type of plants?

Options:
; = Hydrophytes

> # Halophytes

- = Epiphytes

4 « Xerophytes

Question Number : 126 Question Id : 16794315658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 127 Question 1d : 16794315659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a Tertiary consumer in a food chain?

Options:

; = Green plant

- % Rabbit
3 « Hawk

4 % Deer

Question Number : 127 Question Id : 16794315659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question 1d : 16794315660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a non- Conventional source of energy?

Options:



|  lidal energy
- ® LPG
3 % Diesel

4 % Petroleum

Question Number : 128 Question Id : 16794315660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 129 Question Id : 16794315661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a non-legume family in which the plants are capable of Nitrogen fixation?

Options:
1 % Fabaceae

o o Rosaceae
- % Malvaceae

4 % Liliaceae

Question Number : 129 Question Id : 16794315661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frafefle F 3 o7 o Rwh oREr ¢ S d aegss FuRor # e g 22

Options:
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Question Number : 130 Question Id : 16794315662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following gas has highest Global warming potential (GWP)?

Options:
1 ® CO

> % CH4
5 o €02

4 % N20

Question Number : 130 Question Id : 16794315662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 * CO
> % CH4
2 ¢ CO2

. = N20

Question Number : 131 Question Id : 16794315663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Blue-green algae are included under which kingdom?

Options:
; » Algae

> « Monera



s w Fungi

4 % Protista

Question Number : 131 Question Id : 16794315663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 132 Question Id : 16794315664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Long term exposure to which of the following pollutants in water can cause Lung cancer?

Options:
1 « Cadmium

Mercury
z % Silver

4 # Selenium

Question Number : 132 Question Id : 16794315664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 133 Question Id : 16794315665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a Persistent Organic Pollutant (POP)?

Options:
1 ® CO2

5 % SO2
5 o DDT

4 % NO2

Question Number : 133 Question 1d : 16794315665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frfafea 7 @ #ia & wF wad FEas ggue (We ) g2

Options:

, % CO2

, % SO2
- « DDT

. » NO2

Question Number : 134 Question I1d : 16794315666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following disease is caused due to the poisoning with Mercury?

Options:
1 +« Minamata
> % Itai-itai

=z % Polio

4 % Rickets



Question Number : 134 Question Id : 16794315666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 135 Question 1d : 16794315667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Secretariat of UNFCCC is located in which country?

Options:

| Germany

- % France
3 % USA

4 = England

Question Number : 135 Question 1d : 16794315667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I.UA.TE.ELELEL. (UNFCCC) & afeEmed g g # ua 82

Options:
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Question Number : 136 Question Id : 16794315668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Moentreal protocol was signed to combat which of the following environmental issue?
Options:

, = Water pollution

- u Greenhouse gas emissions

5  Ozone depletion

4 = Sound pollution

Question Number : 136 Question Id : 16794315668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 16794315669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
5% of June every year is celebrated as which day?
Options:

, = Science day

- u Children’s day

5 # Wwater day

4  Environment day

Question Number : 137 Question Id : 16794315669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 16794315670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an Exotic breed of cow?

Options:
1 ® Gir

- % Sahiwal
s Jersey

4 % Murrah

Question Number : 138 Question 1d : 16794315670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 139 Question Id : 16794315671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Bovine Tuberculosis occurs in which of the following organisms?
Options:
, = Human beings

o  Sheep
3 % Foul

4 % Dog

Question Number : 139 Question Id : 16794315671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
[ ;:!

Jlm

o v 53

3

b
b
G

Question Number : 140 Question Id : 16794315672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Avian pox virus infects which of the following organisms?
Options:

1 % Fishes

5 u Frogs

3 o Birds

4 % Cattle

Question Number : 140 Question Id ;: 16794315672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
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Question Number : 141 Question Id : 16794315673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The type of interactions present between H»S molecules is:
Options:

; » Dipole-induced dipole



-  Dipole-dipole

5 » lron-dipole

4, = Iron-induced dipole

Question Number : 141 Question Id : 16794315673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 142 Question Id ;: 16794315674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two bottles X and Y contains 1 molar and 1 molal aqueous solutions of caustic soda respectively:

Options:
, » XandY have equal concentrations

- % It is impossible to compare concentrations

z « X 1s more concentrated than Y

4 % Y is more concentrated than X

Question Number : 142 Question Id : 16794315674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 143 Question Id : 16794315675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tyndall effect is not observed in:
Options:

; = Blue coloured sky

> % Gold sol
=z % Smoke

4 « Glucose solution

Question Number : 143 Question Id : 16794315675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 144 Question Id : 16794315676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of number of protons. electrons. neutrons in the parent nucleus which gives N4 on emission of 2 beta particles
respectively is:

Options:

7
S I



.
2o 55,9
4% 99,5

Question Number : 144 Question Id : 16794315676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 145 Question Id : 16794315677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
General electronic configuration of valency shell for the newly discovered element whose Z =117 is:

Options:
1 o ns np-

5 x ns'npt

5 % (n—Z)fJ'{n— 1)d! ns?

4 R (n—ljd-:’nsj

Question Number : 145 Question Id : 16794315677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




| o Bshp’

5 » ns'np’

2 % (n—z}fj'{n— 1)d! ns?

4 % (11—1)::1-:’1151

Question Number : 146 Question Id : 16794315678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bohr’s model of atom could explain:

Options:
1 % Formation of chemical bonds

- = Quantisation of energy

5 u Fine structure of spectral lines

4  Energy of uni electron species

Question Number : 146 Question Id : 16794315678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 147 Question 1d : 16794315679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of formation of normal oxide ion in gaseous phase is unfavourable since:

Options:



1 # It is isoelectronic with Neon

-  Electron repulsion outweighs the stability gained by acheiving noble gas configuration

5 w Its electronegativity is high

4 = Ifs ionic size is larger

Question Number : 147 Question 1d : 16794315679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 148 Question 1d : 16794315680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hydrogen can not be placed along with alkali metals due to its:

Options:
1 % Metallic character

> « Non metallic character

Reducing character

Low ionization enthalpy

Question Number : 148 Question Id : 16794315680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 149 Question Id ;: 16794315681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 149 Question Id : 16794315681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Neutralisation may be considered as the formation of dative bond according to:
Options:

» Arrhenius theory

Do

-  Lewis theory

- » DBronsted Lowry theory

4 = Ostwald’s theory

Question Number : 150 Question Id : 16794315682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

pH of 107100 H.FO, is approximately:



Options:
1 o 6.99

Question Number : 150 Question Id : 16794315682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

pH 10710 M H.PO, & pH A =Tyt fhgar &2

Options:

v 6.99
o R 14
o ® 10

4 % 4

Question Number : 151 Question Id ;: 16794315683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
XMnO; +yS0,+ZH +xH,0——»xMn " +yH. SO,
X. V. Z respectively in the above equation are:

Options:
, » 5.2,6

I

.3.6

=

.5.6

I

.10, 16

Question Number : 151 Question Id : 16794315683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
XMnO; +ySO,+ZH +xH,0——xMn "’ +yH SO,
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Options:

;w502 6
gom BBy
;2,56

vm 2, 10, 16

Question Number : 152 Question 1d : 16794315684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In neutral medium MnQO; changes to:

Options:
1. % Mn™

5> v Mn™
2 % Mn™®

4 % Mn™’

Question Number : 152 Question Id : 16794315684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % Mn™

5 o Mn™
2 % Mn™®

4 % Mn™’

Question Number : 153 Question Id : 16794315685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Formula of the ore sphalerite is:

Options:



1o 08 o)

, % ZnCO;3

3 % ZnCl,

4 o nS

Question Number : 153 Question 1d : 16794315685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® Zn0

> % ZnCO3

w ZnCl

4 & ZnS

Question Number : 154 Question Id : 16794315686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The method not used to prevent corrosion of metals is:
Options:

, = Batrier protection

5 » Alloying with suitable metal (S)

-  Coating with phenol

4 # Coating with bisphenol

Question Number : 154 Question Id : 16794315686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 155 Question Id : 16794315687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Van Arkel method is used in the purification of:

Options:
8 n

gwgg

q. o Tl

Question Number : 155 Question Id : 16794315687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 ® Zn

o B Au

« Ag

4 ¢ Ti

Question Number : 156 Question Id : 16794315688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The reaction between propene and HBr is a type of:

Options:



, » Nucleophilic addition
-  Electrophilic addition

- % Free radical addition

Enophilic substitution

Question Number : 156 Question Id : 16794315688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 16794315689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The type of isomerison not found in the compound CH3;CH>CH = CH» is:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1 Chain isomerism
>  Metamerism
= Geometrical isomerism

4 Position isomerism

Question Number : 157 Question Id : 16794315689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

| T () amsEaie
> HEHARSH

. SATHAAT HEAANEH
, ST AEEARH

Question Number : 158 Question Id : 16794315690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TUPAC name of HOOC—-CH,—CH»—CHO is:

Options:
1 % DButanal-4-oic acid

- » Formyl butanoic acid

5 u 4-carboxy propanal

4  Formyl propanoic acid

Question Number : 158 Question Id : 16794315690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HOOC-CHo-CH»-CHO T IUPAC &TH T 87
Options:
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Question Number : 159 Question Id : 16794315691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ethanoic acid on reaction with lithium Aluminium hydride gives:
Options:
CH;CHO

] -

5 % CH;OCH;

. » CH3CHyOH

4 x CoHg

Question Number : 159 Question Id : 16794315691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, = CH3CHO
> » CH30CH;
5 « CH3CH20H

4 » CoHg

Question Number : 160 Question Id : 16794315692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hydrolysis of CH3CN gives:
Options:

| % CH;CH>NH>

, % CH3CONH,

- x CH;CHO

, » CH3;COOH

Question Number : 160 Question Id : 16794315692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

CH3CN & grssifafad ¥ Far &ear 27



Options:

| % CH;CH2NH39

, x CH3CONH;

. » CH3CHO

4  CH3COOH
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Question Number : 161 Question Id : 16794315693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Aluminium carbide on hydrolysis gives a compound ‘X’. X can also be prepared by:
Options:

, w Kolbe’s electrolysis



> % Wurtz reaction

-  Decarboxylation

4 = Hydrogenation of olefines

Question Number : 161 Question Id : 16794315693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 16794315694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Water pollutants that are responsible for Eutrophication are:

Options:
, = polychlorinated biphenyls

-~ u Sulphates & nitrates

5 # Organic wastes

4 « Fertilizers contain phosphates

Question Number : 162 Question Id : 16794315694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 16794315695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Green chemistry involves:
Options:

, = Growing more green plants

-  Cost effective approach which involves reduction in waste generation

- # More usage of chemical fertilizers to support green revolution

4 = Minimum usage of natural resources

Question Number : 163 Question Id : 16794315695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id : 16794315696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The major constituent of Portland cement among the following is:
Options:

1 % Silica



> o Lime
z % Iron oxide

4 % Alumina

Question Number : 164 Question I1d : 16794315696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 16794315697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of these is a Polyamide among the following?

Options:
; = Rayon

Terylene

M2
2

= « Nylon6, 6

4 % Orlon

Question Number : 165 Question Id : 16794315697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 16794315698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A truck running at 54 km/hr is brought to rest in 10s. The distance travelled by the truck in 10th second is:

Options:
1 % 025m

> % 0.50m
3 o 0.75m

4 ® 0.90m

Question Number : 166 Question Id : 16794315698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % 0.25 m
, % 0.50 m
2 v 075 m

4 # 0.90 m

Question Number : 167 Question Id : 16794315699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Abhiram leaves his house at §.30 am for his school. The school is 2 km away and classes start at 9.00 am. If he walks ata
speed of 3 km/hr for the first kilometer, at what speed should he walk the second kilometer to reach just in time?

Options:
1 o 6 kin/hr



Question Number : 167 Question I1d : 16794315699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 « 6 km/hr
> % 9.5 km/hr
= % 4.5 km/hr

4 % 3 km/hr

Question Number : 168 Question 1d : 16794315700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The speed of a car as a function of time is shown in figure:
The distance travelled by the car in 8s.

4

Speed mmis

d 1 3 4 & J'C- 10 * Tinic o secotd

Options:
1o 08 20m
o R 40m

z & 60 m

4 « 80m

Question Number : 168 Question Id : 16794315700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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i

o

Specd momis

01 2 4 6 8 10 Tmeinsccond

Options:
1 ® 20 m

o ® 40 m
z ® 60 m

4_;,;—*80”1

Question Number : 169 Question Id : 16794315701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Velocity-time graph of a moving particle is shown in figure.

3

Yelocity inm mus

'l ] L L i
T T ¥ ¥

| Y 1 3 1 &
Time in seconds

How much net force acts on the body?
Options:

1 «* Zero

> % 10N

5 &% 20N

4 % 40N



Question Number : 169 Question 1d : 16794315701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
|« Zero

o % 10N
5 % 20N

. = 40N

Question Number : 170 Question Id : 16794315702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A bullet of mass 100g is fired from a gun of mass 20 kg with a velocity of 100m/s. The recoil velocity of the gun is:
Options:

1% 0.1ms’

=~ % 0.2ms

=z % 0.4ms’}

4 o 0.5ms}

Question Number : 170 Question Id : 16794315702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® 0.1ms"

5 ® 0.2ms’]

3 ® 0.4ms™

4 o 0.5ms™]

Question Number : 171 Question Id : 16794315703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A porter of mass 50 kg carries a load of weight 50N on his shoulder. The force with which the floor pushes up his feet
is (Take g = 10m/s*)

Options:

1. % 50N

> % 100N

Question Number : 171 Question Id : 16794315703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
50 kg F=IT & UH Foil 9 FY W A 50 N & 91X & Far &1 Foll & 97 BN & hg a7 § 50

&7 (AT AT g = 10mis?)

Options:

. % BON
- % 100N
- % 250N

. v 550N

Question Number : 172 Question 1d : 16794315704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A cricket ball and a tennis ball of different masses (mass of cricket ball is heavier than mass of tennis ball) have the
same kinetic energy. Then the:
Options:

, « cricket ball has a greater momentum than the tennis ball

- u tennis ball has a greater momentum than the cricket ball

- = both balls have equal momentum

4 % both balls have zero momentum

Question Number : 172 Question Id ;: 16794315704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 16794315705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arjun has a mass of 50 kg. He eats bananas of 1000 calories. If this energy is used up to lift him from the ground. the

height to which he can climb is . Take g=10 m/s” and 1calorie = 4.2 Joule.
Options:
1 % 128m

oo 84m

Question Number : 173 Question Id : 16794315705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 12.8 m

Question Number : 174 Question Id : 16794315706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

On earth, the value of G=6.67 X 10711 Nm2kg~2. What is its value on moon. where acceleration due to gravity is
nearly one - sixth than that of earth?

Options:
, % 111X 1071 Nm2kg2

5> % 40.02 X 1071 NmZkg-2

5  6.67 %X 10711 Nm2kg2

4, % 267X 1071 Nm2kg?

Question Number : 174 Question Id : 16794315706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

 » 1.11 x 1011 Nm2kg-2
, % 40.02 x 10-17 Nm2kg-2

. v 6.67 x 10°11 Nm2kg-2



. % 267 x 10711 Nm2kg-2

Question Number : 175 Question Id : 16794315707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A body is dropped freely from a height *X° m. If it takes Y seconds to reach the ground. The time it takes to reach half

of the height of the tower is (Take g = 10m/s?)

Options:
%

bl

1.

v

M2
L 4
5

Question Number : 175 Question 1d : 16794315707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 176 Question Id : 16794315708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A solid of density 2500 kg/m? is found to weigh 0.45 kef in air. If 3/4 volume of solid is completely immersed in brine
solution of density 1150 kg/m?3. Find the apparent weight of solid in brine. (g = 10m/s2).

Options:
0.19475 kef.

1 =

o  0.29475 kef.

o w 0.39475 kef.

4 % 0.49475 kef.

Question Number : 176 Question Id : 16794315708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 3G oG gded 2500 kg/mS & F 247 H I 0.45 kgf 9ram =T g1 TfE 1150 kg/mS Oefed arer
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Options:

. 0.19475 kgf.

, o 0.29475 kgf.

0.39475 kof.

w
®

0.49475 kdf.

o
B

Question Number : 177 Question 1d : 16794315709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A piece of copper of density 8.8 g/cm? having an internal cavity weighs 264 g in air and 221 g in water. The volume of
cavity is:

Options:
1 13 cm?
> # 23 cm?

= # 3 em?

4 ® 6.5 cm?

Question Number : 177 Question 1d : 16794315709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
8.8 glcm3 TFcT T T F THFS H HAH [O% gl IHH gAT F I 264 g AR 9T F F=A 221 g
¥ g 1 3Tad o 2

Options:

1 o 13 cm3
5 ® 23 cm3
= ® 3 cm3

4 % 6.5 cm3

Question Number : 178 Question 1d : 16794315710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Velocity of sound is maximum in:

Options:
1 « steel

5 % water

5 = hydrogen

4 #® Vvacuum

Question Number : 178 Question 1d : 16794315710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 16794315711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Raju hears the echo of his own voice from a distant hill after 2s. The speed of sound in air is 350 m/s. The
distance of hill from Raju is:

Options:
1« 350m

o R TOO0O m
s % 175m

4 % 650m

Question Number : 179 Question 1d : 16794315711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

v 350 m

, % 700 m
2 % 175 m

. % 650 m

Question Number : 180 Question Id : 16794315712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The radius of curvature of a concave mirror that forms an image at a distance of (K/3) from the pole, if image and
object distances are equal is:

Options:
1.« Ki3
o R K/6

s % K/12

4. % K

Question Number : 180 Question Id : 16794315712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v Ki3

3 % K/12

4 % K
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Your father has purchased a new bike to gift you as you have topped the school examination. and you are fascinated a
lot towards it’s design. colour, look... and mirror of it. You wanted to see your beautiful face in the mirror. and also saw
a statement on the mirror which is written as “Objects in the mirror appear closer than they really are”. The mirror you
are looking at is:

Options:
, w Dplane mirror

- # concave mirror
5 o CONVEX mitror

4 % CONCavo-cOnvex Mmirror

Question Number : 181 Question Id : 16794315713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 16794315714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A postage stamp placed under a glass, appears raised by 10 mm. If refractive index of glass is 1.5, then the actual
thickness of glass slab is:

Options:
1 % 10mm
> # 12mm

= ®% 24 mm

4 « 30 mm



Question Number : 182 Question 1d : 16794315714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 % 10 mm

> % 12 mm
=z % 24 mm

4 « 30 mm

Question Number : 183 Question Id : 16794315715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Light of wavelength 600 nm in air enters a glass slab of refractive index 1.5. The wavelength of light in glass slab is:

Options:

, % 2x107m

5« 4x107m

5 % 4x107'm

=4
4% 2x10"m

Question Number : 183 Question 1d : 16794315715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Z3T F 600 nm TGS T T TF MY F Forw e wuEas gEes 1.5 § F 99y a=ar g
ofrer & Fearas 3 TR FT aEeey fhaar 2Em?

Options:
i % 2x107m
5 & 4%107'm

z B 4x107m

4 % 2x107m



Question Number : 184 Question 1d : 16794315716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A convex lens of focal length 15 cm is placed in front of a convex mirror coaxially at a distance of 5 cm from the pole
of the mirror. When an object is placed at a distance of 20 cm from the lens, it is found that the image coincided with the
object. The radius of curvature of the mirror is:

Options:
1 % 60cm

Question Number : 184 Question Id : 16794315716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 # 60 cm

> « 5D cm
z % 50 cm

4 % 65 cm

Question Number : 185 Question Id : 16794315717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a concave lens of focal length 20 cm forms an image at a distance of 10 cm from the lens then the distance of the
object from the lens is:

Options:

1. « 20cm



Question Number : 185 Question 1d : 16794315717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
20 cm WIRE g 3T 3ETE o F o F § 10 cm I gEY W TH OfF T4 § A a5g B oF F g
faraetr 7

Options:
1 « 20 cm

> % 10 cm
= % D cm

4 % 125 cm

Question Number : 186 Question Id : 16794315718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A resistor of 20 cm length and resistance 5 ohm is stretched to a uniform wire of 40 cm length. The resistance now is:

Options:
1 % 10 ohm
> #% 30 ohm

% % 40 ohm

g oF 20 ohm

Question Number : 186 Question Id : 16794315718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 16794315719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The total current supplied to the circuit by the battery is:

Options:

4 o 4A

Question Number : 187 Question Id : 16794315719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 0.5A
> R -“51.
- % 2.5A

4 v 4A
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An electron moves on a straight line path XY as shown in figure:

electron

The abed is a coil adjacent to the path of electron. What will be the direction of current (if anv), induced in the coil
when electron moves from X to C along the line XY?

Options:
1 % No current is induced

- « abed
z % aded

4 % Data insufficient

Question Number : 188 Question Id : 16794315720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L ® IS o 9T FEr grdr

> « abcd

z % adcd

4 ® mg?ﬂ'

Question Number : 189 Question Id : 16794315721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A conductor carries a current vertically downwards in a magnetic field directed southwards, It then experiences a force
in the direction of:

Options:



1 % East
o o West

5 & Upwards

4 % North

Question Number : 189 Question Id : 16794315721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4M3F|T

Question Number : 190 Question Id : 16794315722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The focal length of the eye lens increases when eye muscles:

Options:
1 « are relaxed and lens becomes thinner

> % contract and lens becomes thicker
- # are relaxed and lens becomes thicker

4 % contract and lens becomes thinner

Question Number : 190 Question Id : 16794315722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
Perceiving the Great Bear constellation can be based on which of these theories?

Options:
1 % Thorndike

> o Gestalt
z % Pavlov

4 = Piaget

Question Number : 191 Question Id : 16794315723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 192 Question Id : 16794315724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the best option.

Social stratification in India is mainly based on which of these options?
Options:
, = Caste, gender, profession and locality

- u Education, employment. gender and ethnicity

5  Caste, class, religion and gender

4 = Gender, class, community and locality
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Correct Marks: 1 Wrong Marks: 0.25
What do we call it when learning of higher behavioural levels are facilitated by lower behavioural levels?

Options:
1 « Vertical transfer

- % Lateral transfer



s w Negative transfer

4 % Zero transfer
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Question Number : 194 Question Id : 16794315726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The process of word formation is studied under which of these branches in linguistics?
Options:

, = Vvocabulary

5 % Syntax

- » Phonology

4 Morphology
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Question Number : 195 Question Id : 16794315727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Elevators. ramps and infrastructural changes are examples of which factors that promote inclusion?

Options:
, = Proper information

- % Educational modification

o « Accessibility

4 R Expenses
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Question Number : 196 Question Id : 16794315728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the best suited response from the following.

One of the objectives of teaching mathematics that is unique to this subject is it develops:

Options:



, « Brevity and precision in expression

- » Experimental attitude

- » Logical reasoning

4, # Interpretation and inference
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Question Number : 197 Question Id : 16794315729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the best option to complete the sentence.

Text books are as the primary source for transmitting educational content because they are considered to be:
Options:

1 % Resourceful

> « Reliable

= % Readable

4 % Renewable
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Question Number : 198 Question Id : 16794315730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the best answer from the following.

Incorporating art in lessons leads to better comprehension and memory because it is:
Options:
, w» Independent task

> u Self-learning

-  Sensory learning

4 = Collaborative learning
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Question Number : 199 Question Id : 16794315731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Curriculum should include subjects and activities useful to children in present life and also in future. This thought aligns
with which of the principles of curriculum development?

Options:
, = Principle of correlation

-  Principle of utility

5 w Principle of flexibility

, w Principle of future orientation
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Question Number : 200 Question Id : 16794315732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following does not entirely drive effective implementation of inclusion?
Options:

, « Funding



> % Affitude
= % Awareness

4 # Perspective
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